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An Archaeological investigation ( Strip,  Plan and Sample) of  
land to the rear of Taylor & Baines, 26-28, Northgate, Oakham,

Rutland, NGR SK 8591089. 

Summary   
An archaeological investigation (strip map and sample) was carried out at 26-28 
Northgate, Oakham, Rutland NGR: SK85910893 on behalf of Taylor and Baines.  The 
work was undertaken �� the 20th July 2009 in advance of the construction of new 
workshops at land to the rear of the buildings. An initial trial trench was excavated 
through the southern footprint of the new building and modern made ground was 
observed throughout the excavated area, overlying the natural ironstone.  Further 
groundworks for the construction of foundations for new workshops were also 
observed.  Modern features relating to the previous use of the yard were recorded, but 
no significant archaeological deposits, features or pre-modern artefacts were 
encountered during the work.   

The archive will be held by Rutland County Museum with accession number OAKRM 
-2009-13. 
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2.1 Working within an excavation. 
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2.2 Working with plant. 
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2.3 Working within areas prone to waterlogging. 
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2.4 Working with chemicals. 
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